

MEMORANDUM

To:

Board of Park Commissioners

From:

Errick Beverly, Director of Recreation

Date:

August 10, 2023

Re:

Sole Source Procurement

Staff recommends to purchase:

Atlas, Sound Tube, Shure and JBL products for the sound system in the Field House. The current sound system products for the Field House need to be updated and replaced. The sound system equipment is used by our staff, members, daily users, and Park District programs.

In the marketplace, Sound Design is the sole source provider for Atlas, Sound Tube, Shure and JBL equipment for the state of Illinois, as such our conducted research is below and attached in the Sole Source Justification form.

Due to the fact the equipment:

- 1. Can only be provided from one (1) known source;
- 2. Is unique or special in nature;
- 3. Is a proprietary system (i.e., updates, specialized replacement parts, etc.);
- 4. Specialized nature and there is no other qualified service provider available and is requested.

In accordance with the Illinois Procurement Code, District staff is seeking approval of the sole source procurement.

If you have any questions before the meeting, please let me know as I'd be more than willing to discuss. Thank You.



10104 S. MANDEL ST. PLAINFIELD, IL 60585 (630) 548-7000

Website www.sounddesigninc.com

PROPOSAL

PROPOSAL#

2023011295

ORDER NUMBER

PROPOSAL DATE CUSTOMER NO.

July 21, 2023 WAUKEGAN

SEND ALL PURCHASE ORDERS TO INFO@SOUNDDESIGNING.COM

DATE

SHIP TO:

SALESPERSON

WAUKEGAN PARK DISTRICT

1324 GOLF ROAD WAUKEGAN, IL 60087-4831

WAUKEGAN, IL 60087-4831

P.O. NUMBER

BILL TO:

(847) 782-3624 Ext.

1324 GOLF ROAD

WAUKEGAN PARK DISTRICT

(847) 782-3624 Ext.

REQUEST DATE

REFEREN	Al Marasco		06	6/05/2023	202	3011295	
REFEREN	ICE					2023011295	
		SHIP VIA	TE		TERMS	ERMS	
		Best way					
TOCK CODE PRODUCT DE	SCRIPTION	-197421	UNIT	REQ	UNIT	EXT	
OUND SYSTEM UPGRADE							
ATLAAZM8			EA	1.00	1,700.00	1,700.00	
A/S 8-ZONE AUDIO PROCESSO	R						
ATLACVUS			EA	1.00	199.00	199.00	
A/S ATMOSPHERE VOLUME CO	NTROL - DECORA		 				
ATLAAZA404	4 OLIANINE POWER AND	EED	EA	1.00	1,359.00	1,359.00	
A/S 400-WATT NETWORKABLE	4-CHANNEL POWER AMPLI	FIER	EA	4.00	1,250.00	5,000.00	
QSC 2 channels, 260 watts/ch at	80 425 watts/ch at 40 700 v	vatte	L	4.00	1,200.00	3,000.00	
SHURSLXD4G58	50, 425 Watts/611 at 40, 100 V	ratio	EA	3.00	499.00	1,497.0	
SHURE DIGITAL WIRELESS RE	CEIVER G58				3		
SHURSLXD2SM58			EA	3.00	299.00	897.0	
SHURE HAND HELD MIC							
SHURUA820G			EA	2.00	39.95	79.9	
SHR 1/2 WAVE ANTENNA - G BA	ND 470-530		_	2.00	50.00	440.00	
SHURUA825 SHR 25' UHF ANT CBL			EA	2.00	59.00	118.00	
WALLTR			EA	1.00	12.00	12.00	
triple wall plate				1.00	.2.00		
SNAPSRBLNK3U			EA	3.00	27.00	81.00	
Strong Rack Blank Panel 3U							
SNAPSRBLNK2U			EA	1.00	25.00	25.00	
Strong Rack Blank Panel 2U					40.00	54.0	
SNAPSRBLNK1U			EA	3.00	18.00	54.00	
Strong Rack Blank Panel 1U VALCV2003A			EA	1.00	599.00	599.00	
VALCOM Page Control - 3 Zone 1	alkhack V-2006AHF			1.00	000.00	000.00	
Il materials have a manufacturer warranty a	nd installation is guaranteed to the o	riginal owner for 90 days. All	sales		C	ONTINUE	

All materials have a manufacturer warranty and installation is guaranteed to the original owner for 90 days. All sales are final. Sound Design assumes no liability for any unauthorized service to any of our products or their wiring. Misuse, abuse, or neglect may void any warranties. This warranty is not an insurance policy. Any products damaged will void warranties. All special order sales are final. No credits or refunds will be given for special ordered products. Sound Design has the right to either repair or replace any defective products sold or installed within the warranty period and is subject to manufacturer policy. To accept this Proposal, please sign and date below.

NO product will be ordered or scheduling set until deposit is received. Proposal valid for 30 days.

Authorized Signature	Date

Page 1 of 2

Sound Design, Inc. Authorized Signature	Date



10104 S. MANDEL ST. PLAINFIELD, IL 60585 (630) 548-7000

Website www.sounddesigninc.com

BILL TO:

Authorized Signature

Sound Design, Inc. Authorized Signature

WAUKEGAN PARK DISTRICT 1324 GOLF ROAD WAUKEGAN, IL 60087-4831

SHIP TO:

PROPOSAL

PROPOSAL#

2023011295

PROPOSAL DATE CUSTOMER NO.

Page 2 of 2

July 21, 2023 WAUKEGAN

SEND ALL PURCHASE ORDERS TO INFO@SOUNDDESIGNING.COM

WAUKEGAN PARK DISTRICT 1324 GOLF ROAD WAUKEGAN, IL 60087-4831

(847) 782-3624 Evt

(847) 782-3624 Ext.	(847) 782-3624 Ext.		(847) 782-3624 Ext.				
P.O. NUMBER	SALESPERSON	REQUEST DATE	1	DATE	ORDER	NUMBER	
	Al Marasco		0	06/05/2023 20		23011295	
REFER	RENCE	SHIP VIA		TERMS			
		Best way					
	DESCRIPTION		UNIT	REQ	UNIT	EXT	
MISCHARDWARE Misc Hardware			JOB	1.00	300.00	300.0	
LABORCOM			JOB	1.00	5,800.00	5,800.0	
Labor Commercial SOW: PROVIDE AND INSTALL T	THE FOLLOWING PROPLICTS						
1) 8 ZONE PREAMP CONTROLL	ERS						
1) ATLAS AMPLIFIER							
4) GSC 500TI AMPLIFIERS	500 0044444						
3) SHURE MIC SYTEMS (2 MICS 3) 1 U BLANK PANELS	FOR GYM 1 MIC FOR POOLA	REA)					
3) 3 U BLANK PANELS							
2) 2 U BLANK PANELS							
1) VALCOM INTERGACE FOR PI							
RELOCATE MOOD RADIO FROM TEST SYSTEM AND DEMO	A ENCLOUSRE TO RACK WITH	HON OFF SWITCH					
LOI OTOTEMAND DEMO							
			- 1				
•							
All materials have a manufacturer warranty	y and installation is guaranteed to the or	iginal owner for 90 days. All s	ales	NET AMO	NINT	17,720.90	
are final. Sound Design assumes no liabilit Aisuse, abuse, or neglect may void any wa will void warranties. All special order sales Sound Design has the right to either repair	arranties. This warranty is not an insural are final. No credits or refunds will be g or replace any defective products sold	nce policy. Any products dama iven for special ordered produ or installed within the warranty	cts.		IGHT	0.0	
period and is subject to manufacturer police product will be ordered or scheduling s	y. To accept this Proposal, please sig	in and date below. NO		TAL DUE (USD)	\$17,720.90	
.46							

Date

Date



10104 S. MANDEL ST. PLAINFIELD, IL 60585 (630) 548-7000

Website www.sounddesigninc.com

BILL TO:

WAUKEGAN PARK DISTRICT 1324 GOLF ROAD WAUKEGAN, IL 60087-4831

PROPOSAL

PROPOSAL#

2023011302

PROPOSAL DATE CUSTOMER NO.

June 23, 2023 WAUKEGAN

SEND ALL PURCHASE ORDERS TO INFO@SOUNDDESIGNING.COM

WAUKEGAN PARK DISTRICT 1324 GOLF ROAD WAUKEGAN, IL 60087-4831

SHIP TO:

(847) 782-3624 Ext.

(847) 782-3624 Ext.

P.O. NUMBER	SALESPERSON	REQUEST DATE	DATE	ORDER NUMBER
	Al Marasco	1(Lis (), 1	06/06/2023	2023011302
REFERE	NCE ALL THE	SHIP VIA	TERMS	
	100	Best way		

STOCK CODE PRODUCT DESCRIPTION	UNIT	REQ	UNIT	EXT
FITNESS CENTER SECOND FLOOR			444	- Marie
JBLCTRL281B	EA	2.00	379.00	758.00
JBL 8" 2-WAY SPEAKER Black PLUS BUILT JBLCTRLSB2210	EA	1.00	799.00	799.00
JBL Compact, Low Profile, High-Power Subwoofer with 2 10" subs				
CROWCDI2300	EA	1.00	999.00	999.00
CROWN Two-channel, 300W @ 4 Analog Power Amplifier, 70V/100V	-	2.00	479.00	958.00
SHURSLXD4J52	EA	2.00	479.00	956.00
SHR SHR DIGITAL WIRELESS RECEIVER SHURSLXD1J52	EA	2.00	239.00	478.00
SHR SHR DIGITAL WIRELESS BODYPACK				
SHURSM31FHTQG	EA	2.00	129.00	258.00
Shure Head Worn Fitness Microphone	EA	1.00	1,700.00	1,700.00
LEACONNECT352 LEA 2 Channel x 350 watt@ 40, 80, 70V and 100V per Ch	L'.	1.00	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	.,
RDLDBT1A	EA	1.00	348.50	348.50
RDL Wall-Mounted Bluetooth® Audio Format-A Interface White		1.00	115.00	115.00
RDLTXTPR2A	EA	1.00	115.00	115.00
RDL Active Single-Pair Receiver - Twisted Pair Format-A - balanced line output RDLPS24AS	EA	1.00	35.00	35.00
RDL power supply				
LABORCOM	JOB	1.00	4,700.00	4,700.00
Labor Commercial				

All materials have a manufacturer warranty and installation is guaranteed to the original owner for 90 day	
are final. Sound Design assumes no liability for any unauthorized service to any of our products or their	wiring.
Misuse, abuse, or neglect may void any warranties. This warranty is not an insurance policy. Any product	ts damaged
will void warranties. All special order sales are final. No credits or refunds will be given for special ordered	ed products.
Sound Design has the right to either repair or replace any defective products sold or installed within the	warranty
period and is subject to manufacturer policy. To accept this Proposal, please sign and date below.	NO -
product will be ordered or scheduling set until deposit is received. Proposal valid for 30 days.	

Authorized Signature______Date_____

Page 1 of 2

CONTINUED

Sound Design	, Inc.	Authorized	Signature_		
--------------	--------	------------	------------	--	--

-		



10104 S. MANDEL ST. PLAINFIELD, IL 60585 (630) 548-7000

Website www.sounddesigninc.com

WAUKEGAN PARK DISTRICT

WAUKEGAN, IL 60087-4831

1324 GOLF ROAD

Sound Design, Inc. Authorized Signature

BILL TO:

SHIP TO:

PROPOSAL

PROPOSAL#

2023011302

PROPOSAL DATE CUSTOMER NO.

June 23, 2023 WAUKEGAN

SEND ALL PURCHASE ORDERS TO INFO@SOUNDDESIGNING.COM

WAUKEGAN PARK DISTRICT 1324 GOLF ROAD

WAUKEGAN, IL 60087-4831

(847) 782-3624 Ext.		(847) 782-3624	Ext.			
P.O. NUMBER	SALESPERSON	REQUEST DATE	С	ATE	ORDE	R NUMBER
	Al Marasco		06	06/06/2023 20230		023011302
REFER	ENCE	SHIP VIA		Т	ERMS	
		Best way				
	DESCRIPTION	l l	JNIT	REQ	UNIT	EXT
SOW: PROVIDE AND INSTALL T 1) 4 CH AMPLIFIER 1) 2 CH AMPLIFIER 2) SHURE MIC KIT WITH HEAD (2) JBL 8" SURFACE MOUNT SPE 1) 10" SUB WOOFER 1) RDL WALL MOUNT BLU TOOT CUSTOMER TO PROVIDE ONE (SET EAKERS TH				2	
All materials have a manufacturer warranty are final. Sound Design assumes no liability fisuse, abuse, or neglect may void any warranties. All special order sales Sound Design has the right to either repair are and in which the property of the sales.	y for any unauthorized service to any o arranties. This warranty is not an insura are final. No credits or refunds will be o or replace any defective products sold	f our products or their wiring, ince policy. Any products damag given for special ordered produc or installed within the warranty	ged	NET AMO	GHT	11,148.50
eriod and is subject to manufacturer polic product will be ordered or scheduling s	y. To accept this Proposal, please sig et until deposit is received. Proposi	gn and date below. NO al valid for 30 days.	ТОТ	AL DUE (JSD)	\$11,148.5
uthorized Signature	Dat		Page	2 of 2		

Date

andos

the latest and the

21

16

-